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What is the number of ways of arranging
the letters of the word ‘BANANA’ so that
no two N’s appear together ?
(a) 40 .
(b) 60 FW\& A
(c) 80 .
N 100
Consider the equation (x — p) x—-6) + 1 =0
having integral coefficients. If the equation
has integral roots, then what values can p
have ?
(a) 4or8 i
(b) 5or 10 H\Ag ‘ A
(¢) 6oril2
(d) 3oré6
What is the equivalent binary number of
the decimal number 13-625 ? X
(a) 1101-111
(b)  1111-101 P C
(¢) 1101101 '
(d) 1111-111
What is the value of
200 ‘ =200
i+y8 7, (198,
~i++3 i+v3)
(a) -1
.
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The order of a set A is 3 and that of a set
£ is 2. What is the number of relations

from AtoB?

ay 4 _
‘0 )
of 6. fAmg D
d 64
log | ~(H)
What is the value of Job ?
g — (H)
/(,_ By
{a) 1ogmB ()
i log,g, (aP) H ) ;
By . m & ~
{c} logaB (afy)
{d}

log,p )
The 59" term of an AP is 449 and thejg
449" term is 59. Which term is equal tc
0 {zero) ? .

@) 501%" term

AnS: C

by 502" term

1 jp}*f' 508" term

dr 509% term |

For a set A, consider the following statements ;

i. A UPAQA)=PA)
AvS.. D

2. Al nPA)=
where P denotes power set.

3. PA)-IA=PA)

Which of the statements given above 1s/ar
correct 7

\/’z‘r/ 1 only

(b} 2only
{¢; 3 only
(d 1,2and3
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If the AM and HM of two numbers are 27 and
12 respectively, then what is their GM equal
to ? .

. N

(@) 12 (4'_}:_-‘.;
CEe
® 18 fly Rt o 0
] . /
(c) 24 'Ta“f'f o ¢ e
(d) 27 SN
1 1 .
If tan ¢ == and tan B = e then what is
the value of (A + B) ? .
(a) -0
¥ 3 st B
T
(c) TZ
d =

If (4, 0) and (-4, 0) are the foci of an ellipse
and the semi-minor axis is 3, then the ellipse
passes through which one of the following
points ?

(a) (2,0

(© (0,0
d 5,0
Under what condition do the  planes

bx —ay =n, cy—-—bz=1I[ az-cx=m

intersect in a line ?

(a) a+b+c=0 :
(b) a=b=c A“&'G
(¢) al+bm+cen=0

d l+m+n=0

Png. D -

TSl S b 807 {21

43,

44,

What is the maximum point on the curve
xX=evy? :

e il.e

| B

b (LD AMS~

o e 1) .
c al - = g

i e, 1)
L ¢

The function f(x) = e, xeR is

‘2! ©Onto but not one-one

ﬁ}} One-one onto H’ l/\g " C .
iz} One-one but not onto

{d)

Neither one-one nor onto

i . 3 . dy
It v= sm_]( i ], then what is — equa§

§
i
.

L1+4x2 dx
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